
Se
pt
em

be
r



September 2023

RODRUNNER REF NO: LS-B-1007A ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,32

5-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G30/G31/G38 2017- Rear 33506861482, 33506869096

Length: 140 Bolt Metric: M12X1,5

Steel Type

RODRUNNER REF NO: LS-B-1007A ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,32

6-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G32 2017- Rear 33506861482, 33506869096

Length: 140 Bolt Metric: M12X1,5

Steel Type

www.rodrunnerparts.com 1



September 2023

RODRUNNER REF NO: LS-B-1007A ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,32

7-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G11/G12 2016-2022 Rear 33506861482, 33506869096

Length: 140 Bolt Metric: M12X1,5

Steel Type

RODRUNNER REF NO: LS-B-1007A ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,32

8-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G14/G15/G16 2018- Rear 33506861482, 33506869096

Length: 140 Bolt Metric: M12X1,5

Steel Type

www.rodrunnerparts.com 2



September 2023

RODRUNNER REF NO: TR-B-1071 ADAPTABLE BMW

Tie Rod End

Weight: 0,51

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front Right 32105A306E8, 32105A2BD08

Length: 202 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-B-1072 ADAPTABLE BMW

Tie Rod End

Weight: 0,51

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front Left 32105A306E7, 32105A2BD07

Length: 202 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 3



September 2023

RODRUNNER REF NO: BC-BM-BS194 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,71

2-SERIES GRAND
COUPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

F44 2019- Rear Lower
Forward

33306878639*

Length: 45

TC-B-1318 Lateral Arm
Rear Lower

Forward
33306878639

RODRUNNER REF NO: BC-BM-BS194 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,71

3-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G20/G21/G28 2018- Rear Lower
Forward

33306878639*

Length: 45

TC-B-1318 Lateral Arm
Rear Lower

Forward
33306878639

www.rodrunnerparts.com 4



September 2023

RODRUNNER REF NO: BC-BM-BS194 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,71

4-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Lower
Forward

33306878639*

Length: 45

TC-B-1318 Lateral Arm
Rear Lower

Forward
33306878639

RODRUNNER REF NO: BC-BM-BS194 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,71

Z4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G29 2019- Rear Lower
Forward

33306878639*

Length: 45

TC-B-1318 Lateral Arm
Rear Lower

Forward
33306878639

www.rodrunnerparts.com 5



September 2023

RODRUNNER REF NO: BC-BM-BS213 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,121

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Upper
Rearward

33306871016*

Length: 48

TC-B-1378 Lateral Arm
Rear Right

Upper
Rearward

33306871016

TC-B-1379 Lateral Arm
Rear Left

Upper
Rearward

33306871015

RODRUNNER REF NO: BC-BM-BS213 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,121

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Upper
Rearward

33306871016*

Length: 48

TC-B-1378 Lateral Arm
Rear Right

Upper
Rearward

33306871016

TC-B-1379 Lateral Arm
Rear Left

Upper
Rearward

33306871015

www.rodrunnerparts.com 6



September 2023

RODRUNNER REF NO: BC-BM-BS214 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,126

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Upper
Rearward

33306871016*

Length: 49

TC-B-1378 Lateral Arm
Rear Right

Upper
Rearward

33306871016

TC-B-1379 Lateral Arm
Rear Left

Upper
Rearward

33306871015

RODRUNNER REF NO: BC-BM-BS214 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,126

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Upper
Rearward

33306871016*

Length: 49

TC-B-1378 Lateral Arm
Rear Right

Upper
Rearward

33306871016

TC-B-1379 Lateral Arm
Rear Left

Upper
Rearward

33306871015

www.rodrunnerparts.com 7



September 2023

RODRUNNER REF NO: BJ-CH-1134 ADAPTABLE CHEVROLET

Ball Joint

Weight: 0,92

EXPRESS 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Lower 19191134, 45D2349

Length: 124,7 Bolt Metric: M16X1,5

RODRUNNER REF NO: BJ-CH-1134 ADAPTABLE CHEVROLET

Ball Joint

Weight: 0,92

EXPRESS 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2011-2018 Front Lower 19191134, 45D2349

Length: 124,7 Bolt Metric: M16X1,5

www.rodrunnerparts.com 8



September 2023

RODRUNNER REF NO: BJ-CH-1134 ADAPTABLE GMC

Ball Joint

Weight: 0,92

SAVANA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Lower 19191134, 45D2349

Length: 124,7 Bolt Metric: M16X1,5

RODRUNNER REF NO: BJ-CH-1134 ADAPTABLE GMC

Ball Joint

Weight: 0,92

SAVANA 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Lower 19191134, 45D2349

Length: 124,7 Bolt Metric: M16X1,5

www.rodrunnerparts.com 9



September 2023

RODRUNNER REF NO: LS-CH-116 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,365

N300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2011- Front 24568434

Length: 187 Bolt Metric: M12X1,25

South America Market

RODRUNNER REF NO: AJ-CH-1193 ADAPTABLE CHEVROLET

Tie Rod

Weight: 0,732

CAMARO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2010-2015 Front EV801181, 22776540, 22976767

Length: 296 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

USA Type

www.rodrunnerparts.com 10



September 2023

RODRUNNER REF NO: LS-CH-136 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,458

SAIL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2016- Front 26201979

Length: 258 Bolt Metric: M12X1,25

South America Market

RODRUNNER REF NO: LS-CH-146 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,35

N400

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front 23942713

Length: 224 Bolt Metric: M10X1,25

South America Market

www.rodrunnerparts.com 11



September 2023

RODRUNNER REF NO: LS-CH-147 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,35

N400

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front 23942712

Length: 224 Bolt Metric: M10X1,25

South America Market

RODRUNNER REF NO: TC-DO-1008 ADAPTABLE DODGE

Lateral Arm

Weight: 0,837

AVENGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II 2008-2014 Rear Upper 5085419AC

Length: 305,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FI-BS126
Control Arm

Bushing
Rear Lower 4766950AC*

YEAR ONLY
2008-2010

www.rodrunnerparts.com 12



September 2023

RODRUNNER REF NO: TC-DO-1008 ADAPTABLE DODGE

Lateral Arm

Weight: 0,837

JOURNEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2020 Rear Upper 5085419AC

Length: 305,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FI-BS126
Control Arm

Bushing
Rear Lower 4766950AC*

YEAR ONLY
2009-2010

RODRUNNER REF NO: TC-DO-1008 ADAPTABLE CHRYSLER

Lateral Arm

Weight: 0,837

SEBRING

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JS 2007-2010 Rear Upper 5085419AC

Length: 305,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FI-BS126
Control Arm

Bushing
Rear Lower 4766950AC*

www.rodrunnerparts.com 13



September 2023

RODRUNNER REF NO: AJ-FO-1443 ADAPTABLE FORD

Tie Rod

Weight: 0,62

FOCUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C170 1998-2004 Front MEV461, 2M5Z3280AA,
2M5Z3280B

Length: 349 Bolt Metric: M14X2 Housing Metric: M14X1,5

2.0L SVT MODEL, USA
Market

RODRUNNER REF NO: LS-H-1176 ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 0,337

CITY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2020- Front Right 51320T00T01

Length: 310 Bolt Metric: M10X1,25

www.rodrunnerparts.com 14



September 2023

RODRUNNER REF NO: LS-H-1177 ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 0,337

CITY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2020- Front Left 51325T00T01

Length: 310 Bolt Metric: M10X1,25

RODRUNNER REF NO: AJ-H-1233 ADAPTABLE HONDA

Tie Rod

Weight: 0,567

CITY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2020- Front 53410T00003

Length: 252 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 15



September 2023

RODRUNNER REF NO: TR-HY-621 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,53

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CN7 2021- Front Right 56825AA000

Length: 120 Bolt Metric: M10 x 1,25 Housing Metric: M16 x 1,5

RODRUNNER REF NO: TR-HY-622 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,53

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CN7 2021- Front Left 56820AA000

Length: 120 Bolt Metric: M10 x 1,25 Housing Metric: M16 x 1,5

www.rodrunnerparts.com 16



September 2023

RODRUNNER REF NO: TC-JE-488 ADAPTABLE JEEP

Control Arm

Weight: 4,49

CHEROKEE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL 2014- Front Right
Lower

68285992AF

Length: 337,1

W/o Off Road Pkg

YEAR ONLY
2019-

RODRUNNER REF NO: TC-JE-489 ADAPTABLE JEEP

Control Arm

Weight: 4,49

CHEROKEE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL 2014- Front Left
Lower

68288579AF

Length: 337,1

W/o Off Road Pkg

YEAR ONLY
2019-

www.rodrunnerparts.com 17



September 2023

RODRUNNER REF NO: BC-JG-BS037 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,226

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X200 1999-2008 XR88759*

Length: 71

Until N38572

TC-JA-1118 Lateral Arm
Rear Right

Lower
XR88759

TC-JA-1119 Lateral Arm
Rear Left

Lower
XR88760

RODRUNNER REF NO: BJ-KI-1004K ADAPTABLE KIA

Ball Joint Kit

Weight: 0,899

SPORTAGE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NB7 1993-2004 Front Lower K9889, K011345101,
K011345101B, K01134510B

Length: 99,1 Bolt Metric: M16X1,5

USA Type

www.rodrunnerparts.com 18



September 2023

RODRUNNER REF NO: BJ-KI-574 ADAPTABLE KIA

Ball Joint

Weight: 0,314

STONIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front 54501H8500*, 54500H8500*

Length: 46

TC-KI-638
Control Arm

and Ball Joint
Front Right 54501H8500

TC-KI-639
Control Arm

and Ball Joint
Front Left 54500H8500

RODRUNNER REF NO: TC-KI-638 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 3,302

STONIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Right 54501H8500

Length: 364

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-574 Ball Joint Front Lower 54500H8000*, 54501H8000*

BC-KI-BS042
Control Arm

Bushing
Front 54501H8500*, 54500H8500*

BC-SB 702
Control Arm

Bushing
Lower 545842H000

www.rodrunnerparts.com 19



September 2023

RODRUNNER REF NO: TC-KI-639 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 3,302

STONIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Left 54500H8500

Length: 364

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-574 Ball Joint Front Lower 54500H8000*, 54501H8000*

BC-KI-BS042
Control Arm

Bushing
Front 54501H8500*, 54500H8500*

BC-SB 702
Control Arm

Bushing
Lower 545842H000

RODRUNNER REF NO: BC-KI-BS042 ADAPTABLE KIA

Control Arm Bushing

Weight: 0,13

STONIC

MODEL NO BODY YEAR DIRECTION OEM NO

2018- Front 54501H8500*, 54500H8500*

Length: 54

TC-KI-638
Control Arm

and Ball Joint
Front Right 54501H8500

TC-KI-639
Control Arm

and Ball Joint
Front Left 54500H8500

www.rodrunnerparts.com 20



September 2023

RODRUNNER REF NO: TC-M-1268 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 1,541

G-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W463A 2018- Front Right
Upper

4633308001

Length: 201,8 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS276
Control Arm

Bushing
Front Upper 4633308001*, 4633307901*

RODRUNNER REF NO: TC-M-1269 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 1,541

G-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W463A 2018- Front Left
Upper

4633307901

Length: 201,8 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS276
Control Arm

Bushing
Front Upper 4633308001*, 4633307901*

www.rodrunnerparts.com 21



September 2023

RODRUNNER REF NO: BC-ME-BS276 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,185

G-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W463A 2018- Front Upper 4633308001*, 4633307901*

Length: 62

TC-M-1268
Control Arm

and Ball Joint
Front Right

Upper
4633308001

TC-M-1269
Control Arm

and Ball Joint
Front Left

Upper
4633307901

RODRUNNER REF NO: TC-M-1328 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,11

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Lower
Rearward

2063305002, 2063304902

Length: 336,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS290
Control Arm

Bushing

Front Lower
Rearward

Outer

2063305102*, 2063305202*

BC-ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

4matic

www.rodrunnerparts.com 22



September 2023

RODRUNNER REF NO: TC-M-1348 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,11

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Lower
Rearward

2063305102, 2063305202

Length: 349,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS290
Control Arm

Bushing

Front Lower
Rearward

Outer

2063305102*, 2063305202*

BC-ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

4x2

RODRUNNER REF NO: BC-ME-BS290 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,204

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Lower
Rearward

2063305102*, 2063305202*

Length: 60

TC-M-1328
Control Arm

and Ball Joint
Front Lower
Rearward

2063305002, 2063304902

TC-M-1348
Control Arm

and Ball Joint
Front Lower
Rearward

2063305102, 2063305202

www.rodrunnerparts.com 23



September 2023

RODRUNNER REF NO: BC-ME-BS291 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,111

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Lower
Rearward Inner

2063305102*, 2063305202*

Length: 48

TC-M-1328
Control Arm

and Ball Joint
Front Lower
Rearward

2063305002, 2063304902

TC-M-1348
Control Arm

and Ball Joint
Front Lower
Rearward

2063305102, 2063305202

RODRUNNER REF NO: BJ-N-1084 ADAPTABLE NISSAN

Ball Joint

Weight: 0,363

QUEST

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V42 2004-2009 Rear Upper CMS30129*, CMS30128*,
55501CK000*, 55502CK000*

Length: 85,5 Bolt Metric: M14X1,5

www.rodrunnerparts.com 24



September 2023

RODRUNNER REF NO: KT-P-657K ADAPTABLE PEUGEOT

Control Arm Kit

Weight: 5,062

PARTNER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B9 2008-2018 Front Right
Lower

3521.G8, 3521.P3, 3521.K3,
3640,53

Length: 331,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-655 Ball Joint Front Lower 3640,53, 3640,68, 3640,6

RODRUNNER REF NO: KT-P-657K ADAPTABLE CITROEN

Control Arm Kit

Weight: 5,062

BERLINGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B9 2008-2018 Front Right
Lower

3521.G8, 3521.P3, 3521.K3,
3640,53

Length: 331,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-655 Ball Joint Front Lower 3640,53, 3640,68, 3640,6

www.rodrunnerparts.com 25



September 2023

RODRUNNER REF NO: KT-P-657K ADAPTABLE CITROEN

Control Arm Kit

Weight: 5,062

C4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

LA 2004-2009 Front Right
Lower

3521.G8, 3521.P3, 3521.K3,
3640,53

Length: 331,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-655 Ball Joint Front Lower 3640,53, 3640,68, 3640,6

RODRUNNER REF NO: KT-P-658K ADAPTABLE PEUGEOT

Control Arm Kit

Weight: 5,062

PARTNER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B9 2008-2018 Front Left
Lower

3520.K8, 3520.S2, 3520.P3,
3640,53

Length: 331,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-655 Ball Joint Front Lower 3640,53, 3640,68, 3640,6

www.rodrunnerparts.com 26



September 2023

RODRUNNER REF NO: KT-P-658K ADAPTABLE CITROEN

Control Arm Kit

Weight: 5,062

BERLINGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B9 2008-2018 Front Left
Lower

3520.K8, 3520.S2, 3520.P3,
3640,53

Length: 331,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-655 Ball Joint Front Lower 3640,53, 3640,68, 3640,6

RODRUNNER REF NO: KT-P-658K ADAPTABLE CITROEN

Control Arm Kit

Weight: 5,062

C4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

LA 2004-2009 Front Left
Lower

3520.K8, 3520.S2, 3520.P3,
3640,53

Length: 331,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-655 Ball Joint Front Lower 3640,53, 3640,68, 3640,6

www.rodrunnerparts.com 27



September 2023

RODRUNNER REF NO: AJ-SN-103 ADAPTABLE SATURN

Tie Rod

Weight: 0,535

SKY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2007-2010 Front EV800545, 88967176

Length: 275,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

USA Type

RODRUNNER REF NO: AJ-SN-103 ADAPTABLE PONTIAC

Tie Rod

Weight: 0,535

SOLSTICE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2006-2007 Front EV800545, 88967176

Length: 275,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

USA Type

www.rodrunnerparts.com 28



September 2023

RODRUNNER REF NO: TC-SZ-648 ADAPTABLE SUZUKI

Control Arm and Ball Joint

Weight: 2,64

SWIFT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A2L 2017- Front Right 4520153R02, 4520153R01,
45201M68P10

Length: 358,5 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-SZ-334 Ball Joint Front
4520168L00*, 4520171L00*,

4520268L00*

BC-SZ-BS037
Control Arm

Bushing
Front Outer 4520153R02*, 4520153R01*

BC-SZ-BS038
Control Arm

Bushing
Front Inner 4520153R02*, 4520153R01*

RODRUNNER REF NO: TC-SZ-649 ADAPTABLE SUZUKI

Control Arm and Ball Joint

Weight: 2,64

SWIFT

MODEL NO BODY YEAR DIRECTION OEM NO

A2L 2017- Front Left 4520253R02, 4520253R01,
45202M68P10

Length: 358,5 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-SZ-334 Ball Joint Front
4520168L00*, 4520171L00*,

4520268L00*

BC-SZ-BS037
Control Arm

Bushing
Front Outer 4520153R02*, 4520153R01*

BC-SZ-BS038
Control Arm

Bushing
Front Inner 4520153R02*, 4520153R01*

www.rodrunnerparts.com 29



September 2023

RODRUNNER REF NO: BC-SZ-BS037 ADAPTABLE SUZUKI

Control Arm Bushing

Weight: 0,216

SWIFT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A2L 2017- Front Outer 4520153R02*, 4520153R01*

Length: 60

TC-SZ-648
Control Arm

and Ball Joint
Front Right

4520153R02, 4520153R01,
45201M68P10

TC-SZ-649
Control Arm

and Ball Joint
Front Left

4520253R02, 4520253R01,
45202M68P10

RODRUNNER REF NO: BC-SZ-BS038 ADAPTABLE SUZUKI

Control Arm Bushing

Weight: 0,12

SWIFT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A2L 2017- Front Inner 4520153R02*, 4520153R01*

Length: 64

TC-SZ-648
Control Arm

and Ball Joint
Front Right

4520153R02, 4520153R01,
45201M68P10

TC-SZ-649
Control Arm

and Ball Joint
Front Left

4520253R02, 4520253R01,
45202M68P10

www.rodrunnerparts.com 30



September 2023

RODRUNNER REF NO: LS-T-1166 ADAPTABLE TOYOTA

Stabilizer Bar Link

Weight: 0,318

YARIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front 48820WB002

Length: 251 Bolt Metric: M10X1,25

RODRUNNER REF NO: BJ-V-1024K ADAPTABLE VOLKSWAGEN

Ball Joint Kit

Weight: 0,614

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Right 5R3407366

Length: 91,2 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

TC-V-978S Control Arm
Front Right

Lower
5R3407152B*

www.rodrunnerparts.com 31



September 2023

RODRUNNER REF NO: BJ-V-1025K ADAPTABLE VOLKSWAGEN

Ball Joint Kit

Weight: 0,614

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Left 5R3407365

Length: 91,2 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

TC-V-979S Control Arm
Front Left

Lower
5R3407151B*

RODRUNNER REF NO: TC-V-978 ADAPTABLE VOLKSWAGEN

Control Arm and Ball Joint

Weight: 4,187

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Right
Lower

5R3407152B

Length: 390 Bolt Metric: M12X1,5 RH

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-V-1024K Ball Joint Kit Front Right 5R3407366

BC-VW-BS173
Control Arm

Bushing
Front Outer 5R3407152B*, 5R3407151B*

BC-VW-BS174
Control Arm

Bushing
Front Inner 5R3407152B*, 5R3407151B*

www.rodrunnerparts.com 32



September 2023

RODRUNNER REF NO: TC-V-978S ADAPTABLE VOLKSWAGEN

Control Arm

Weight: 3,594

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Right
Lower

5R3407152B*

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-VW-BS173
Control Arm

Bushing
Front Outer 5R3407152B*, 5R3407151B*

BC-VW-BS174
Control Arm

Bushing
Front Inner 5R3407152B*, 5R3407151B*

RODRUNNER REF NO: TC-V-979 ADAPTABLE VOLKSWAGEN

Control Arm and Ball Joint

Weight: 4,187

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Left
Lower

5R3407151B

Length: 390 Bolt Metric: M12X1,5 RH

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-V-1025K Ball Joint Kit Front Left 5R3407365

BC-VW-BS173
Control Arm

Bushing
Front Outer 5R3407152B*, 5R3407151B*

BC-VW-BS174
Control Arm

Bushing
Front Inner 5R3407152B*, 5R3407151B*

www.rodrunnerparts.com 33



September 2023

RODRUNNER REF NO: TC-V-979S ADAPTABLE VOLKSWAGEN

Control Arm

Weight: 3,594

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Left
Lower

5R3407151B*

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-VW-BS173
Control Arm

Bushing
Front Outer 5R3407152B*, 5R3407151B*

BC-VW-BS174
Control Arm

Bushing
Front Inner 5R3407152B*, 5R3407151B*

www.rodrunnerparts.com 34



September 2023

RODRUNNER REF NO: BC-VW-BS173 ADAPTABLE VOLKSWAGEN

Control Arm Bushing

Weight: 0,172

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Outer 5R3407152B*, 5R3407151B*

Length: 54

TC-V-978
Control Arm

and Ball Joint
Front Right

Lower
5R3407152B

TC-V-978S Control Arm
Front Right

Lower
5R3407152B*

TC-V-979
Control Arm

and Ball Joint
Front Left

Lower
5R3407151B

TC-V-979S Control Arm
Front Left

Lower
5R3407151B*

www.rodrunnerparts.com 35



September 2023

RODRUNNER REF NO: BC-VW-BS174 ADAPTABLE VOLKSWAGEN

Control Arm Bushing

Weight: 0,359

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020- Front Inner 5R3407152B*, 5R3407151B*

Length: 50

TC-V-978
Control Arm

and Ball Joint
Front Right

Lower
5R3407152B

TC-V-978S Control Arm
Front Right

Lower
5R3407152B*

TC-V-979
Control Arm

and Ball Joint
Front Left

Lower
5R3407151B

TC-V-979S Control Arm
Front Left

Lower
5R3407151B*

www.rodrunnerparts.com 36


